



Nom: _____

Date: _____ Note: _____

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{4} =$$

$$\left(\frac{1}{4}\right) - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} =$$



Nom: _____

Date: _____ Note: _____

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{11}{25}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{199}{320}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{16}{25}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{11}{36}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{21}{80}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{437}{1080}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{2}{5} = \frac{77}{80}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{25}{54}\right)$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{122}{375}\right)$$

$$\left(\frac{1}{3}\right)^3 - \frac{2}{5} = \left(-\frac{49}{135}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) = \frac{5}{16}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{59}{64}\right)$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{4} = \left(-\frac{23}{108}\right)$$

$$\left(\frac{1}{4}\right) - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{179}{250}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$